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Solutionl : DP

O $dplil$ 000 $alil$ D000 $LISS OO, 0000 $1$(OOOO0ODOODOO)

0000000 $dpli]l = max(dplil, dpljl + 1)$ 00 O $(j < i) alj]l < alil$0 O O O $0(n"~2)$0=-8-2--
=i alak]

0000000000000 0000 $tr$fd sans$ 00 O00OCOOODO $i%

0 $ans$ 0 $dplk]$ 00O DDODODO $i<k$ OO $dplil <dplk]$ (0D)IDDODDDODODOOD $dp$
00010000008 888888+3

O{10 60 40 20 30 90 8}0 $dp$ 0O DO O{L,2,2,2,3,4,4}

00000 $tr$000 $1$00 0 $altrl==ans$ 0 $altr]$ 00000 $ans-=1$j0 00000 0O
HaHHE==4

for(int i = 1; i <= n; i++) dp[i] = 1;
int ans = -1, tr;
for(int 1 = 1; i <= n; ++1i){
for(int j = 1; j < 1i; ++j){
if(alj] < ali]) dp[i] = max(dp[i], dpl[j] + 1);
ans = max(ans, dp[i]);
if(dp[i] >= ans) tr = i, ans = dp[i];/*000O0O0d*

}

}

printf("%sd\n", ans);

while(tr){
if(dp[tr] == ans) z.push(a[tr]), --ans;
--tr;

}
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while(!z.empty()) printf("sd ", z.top()), z.pop();

Solution2: 0 0+00
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OS$flils 00000 $isOSLSS OO D00 D0OD0O00D0DO0DODoonooog
O $f[1]=a[l]$ 00 $cnt=1$00 $LIS$ OO0, 0000 $a$:

$ali] > flent]l$ O $f[++cnt] = ali]$

$alil <flent]l$ 00O $f$ 000000 $alils00O0OOOO0O %alil$

0000000000000 sLUSs00000000ooooO $f80000000000O0O00O0OOO
O0O000DoOo0oO0Ooooooo sussooodooooooooooooonoogo

0000 4$f$0000000000000 $0(nlogn)$

fl1] = a[l];
int cnt = 1;
for(int 1 = 2; i <= n; ++1i){
if(a[i] > f[cnt]) f[++cnt] = a[il;
else if(a[i] < flcnt]){
int j = upper bound(f + 1, f + cnt + 1, a[il]) - f;/*0000fO00000O
DalilOODOOOCOOOO
fljl = alil;
}
}

00 $flent]$ 0000

Solution 3 : O LCS

00000000 $2$0000000 $b$J000000 $a,bs 00000000

000000 $DP$ 000000000 $dplilljl$ 0O $alil$ O $bljl$ 0LCSOOODOOODOOO
$dplilljl =$

0 ;(i==20 1] j == 0)
dp[i-1][j-1] + 1 ;(ali] == b[]j])
max{dp[i][j-1], dp[i-1]1[j]1} ;(ali] !'= b[j])

RN

for(int 1 = 1; i <= n; i++){
for(int j = 1; j <=m; j++){
if(a[i] == b[j]) dp[il[j] = dp[i-1][j-1] + 1;
else dp[i][j] = max(dp[i-1][j], dp[i]l[]j-1]);
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